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any occupant of a transport vehicle other than the driver.
Correct

Terrorism, transport, activity, status
Correct

Module 7 Application Test
What is the term referenced in the external causes index to describe 
what a patient was doing at the time the injury or other health

condition occurred, and used only once on the initial encounter?
Correct answer 1 - activityActivity

Acquired absence of left wrist would be reported with ICD-10-CM

code .
Correct answer 1 - Z89.122

Per the definitions in chapter 20, a passenger is defined as:

a person not occupying the space normally reserved for the driver 
and passengers.

a person involved in an accident who was not at the time of the 
accident riding in a motor vehicle.

a person traveling on the outside of the vehicle.
Coding guidelines provide sequencing when applying multiple external cause codes. 
Which is a valid sequence?

Activity, abuse, terrorism, transport

Status, activity, transport, terrorism

Terrorism, abuse, transport, activity

An elderly patient was injured when they tripped down the stairs at 
church. They were brought to the ED for initial evaluation and 
treatment.
What is the ICD-10-CM place of occurrence code for this 

scenario?

The ICD-10-CM external cause code for an initial encounter for a fall from a 
sled is  .


